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(GEOMETRIC MEAN PR,
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What 1s Geometric Mean?

o It 1s the nth root of the product of n values.

o GM =
Yoy Ty

o The formula for calculation of Geometric Mean is:

o GM = ) 1
Antilog| —Y.Logzx]
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o Example: S PN

o Daily incomes of ten workers are given below.
Calculate the geometric mean.

o Income (Rs.) 40 45 75 70 85 500 250 36 8 15

GM = Antﬂﬂg[%-ELﬂgz]

= Antilog [(1/10). 17.6373]
=1.7637

n=10 -ELﬂgz =17.6373
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HARMONIC MEAN

o Harmonic mean (HM) of n values 1s the
reciprocal of the mean of the reciprocals of the
values. It 1s given by the equation.

Breciprocals
7 ]

o HM = Reciprocal|

(or)

HM = [e—————]
- "Xreciprocals
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CALCULATION OF HARMONIC MEAN

Example: Calculate the Harmonic Mean for the following values

X:18 12 16
X Reciprocals(1/x)

18 0.0556

12 0.0833

16 0.0625

21 0.0476

7 0.1429

9 0.1111

21 7 9

Tt

HM= |

HM = 6/ 0.5030
=11.929

n==6 E(%j =0.5030

Yreciprocals



- r d
’t = F 4
-

by
S PN
WEIGHTED ARITHMETIC MEAN

Weighted arithmetic mean 1s defined as the
calculation of arithmetic mean by equating the
welghts to different items in a series according to
their relative importance.

It 1s given by:

EWXJ

Weighted mean, X, = ( STV



CALCULATION OF WEIGHTED ARITHMETIC MEAN

Calculate the weighted arithmetic mean from the following distribution

mm-m
Weight (W) 2
X W WX {M = 370/21
10 2 20 W
20 5 100 = 17.619
25 1 25
15 7 105
20 6 120 »
LW = SW X =370 oy
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MEASURES OF DISPERSION o
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Range

Inter-quartile range (or Quartile range)
Mean deviation

Variance and Coefficient of variance

Standard deviation
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QUARTILE DEVIATION Je
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The 1inter-quartile range or quartile deviation of a
ogroup of observations is the interval between the
values of the upper quartile and the lower
quartile for that group. If lower quartile 1s Q1
and the upper quartile 1s Q3 then:

Interquartile range = Q3 — Q1

. . L.
Semi-Interquartile range = 5(@3—Q1]

03—01
Q3+01

Coefficient of Semi-Interquartile range =



CALCULATION OF QUARTILE DEVIATION

Calculate the

the following data

inter quartile range, quartile
deviation and coefficient of quartile deviation, for

No. of 21 25 28
students
J Cumulative

Height |[Frequenc frequency

58 21 21

59 25 46

60 28 74

61 18 92

62 20 112

63 22 134

64 24 158

65 23 181

66 18 199

N=199

18 20 22 24 23 18

N+1

Size of Q1 = Sizeof]| 1

'hitem = 50th item

o u3(NFT)
Size of Q3 = Sizeof[——"item = 150th jtem

Therefore, Q1 = 60
Q3 =064

Interquartile Range = Q3-Q1= 4
Semi-IQR =  1/2(Q3-Q1)= 2
Coefficient of QD = (Q3-Q1)/(Q3+Q1) 0.0323
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MEAN DEVIATION o
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Mean deviation (MD) is defined as an average
or mean of the deviations of the values from the
central tendency (1. e mean, median, or mode)

E}[.I!:J'T‘

-

Mean Deviation (MD) =

Lflz—T)
N

MD for frequency distribution =

MD

Mean

Coetficient of Mean deviation =
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CALCULATION OF MEAN DEVIATION P
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Find the mean deviation from the following data:
10, 20, 26, 32, 23, 15

Sl. No. X dx =x-X dx
1 10 -11 11
2 20 -1 1
3 26 5 5
4 = 11 11 Coefficient of Mean deviation = M1
> 23 2 2 Meran
6 15 -6 6
Y =126 EH;:?|=36 = 6/21
. =0.285
Mean == = 126/6 = 21
TL

Mean deviation = EH;F' =

N

36/6= 6







